Meals; high-low = 4,900-3,500=1400
Cost; high-low=$26,000-$20,500 =$5,500

The variable cost per meal: $5,500divided by 1,400 =$3.93

The variable cost for the low month; $13,755

Fixed cost; $20,500-[3,500 * $3.93] =$6,745

Px =a + bx

5.77 X =6,745 +3.93X
5.77-3.93=6,745+[3.93-3.93]

1.84X=6,745

1.84X DIVIDED BY 1.84X=6,745.DIVIDED BT 1.84X

X =3,666 [monthly BEP]

3,666*12=43,992 [FISCAL-YEAR BEP]
WHDM program profit analysis

45,000=meal contract

Break even point =$43,992.

1,008 revenue

1,008 meals @ $5.77=$5,816.16

Total cost per meal 1,008 @ $3.93 = $3,961.44

Total profit= $5,816.16 - $3961.44 =$1,854.72

Exercise 2,

Break even point

PX = A+ BX

20X = 6,000. + 3,900. + 4.50X

20X = 9,900. + 4.50X

20X =4.50X=9,900.+[4.50X-4.50X]

15.5X=9,900.

15.5X DIVEDED BY 15.5X =9,900.DIVEDED 15.5X

X=639

Maximum number=650

Break even point = 639

Surplus capacity=11

Newsletter coordinator salary: $6,000 per year

Newsletter assistant salary: $3,900 PER YEAR

There seems to be no slack capacity because the maximum capacity of the two employees is 650.

